
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  

Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  
	
  
	
  
Place	
  deux	
  points	
  A	
  et	
  B.	
  
Trace	
  la	
  droite	
  (AB).	
  
Place	
  un	
  point	
  C	
  sur	
  (AB)	
  mais	
  qui	
  n’est	
  
pas	
  entre	
  A	
  et	
  B.	
  


